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E i pty Based upon the quote above, how did casily did Kepler undersiand his earlicr work?
e using complete Bnglish sentences.
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Ly Consider points A{ 245} B(1,5,7), and C(~1.6.8).

a3 Fined the equation of the line that includes A and B.
b} Find the angle between /18 and A0 . Fxpress vour answer in radians. e < fiem&s
Findg the eguation of the plane thet includes the three points.
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A0 Consider the line # {f ; = <'2/,1 + 21&1) and the point .A{ZI,—]).
a.} Find the plane that includes point A that is perpendicular to the line.

b Find the ;::o-ir:t}%here the line intersects the plane found in (a.).

.} Find the distance from peint 4 to the line.
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4.} Consider the parametric curve x{/}=¢" and p(t}=2¢ for 120,

a.b Compute the length of the curve on 0 <7 <1

b.) Compute the lenpgth of the curve on 1 <7 <2

¢} Convert this parametric equation into an equation of the form y = f(\) and compute the
tength of the graph of f{%} ontgx<.

.} is the answer in part {¢.) the same as the answer in part (b.)? How do you explain this resuft?
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S Consider the Himagon 7= Zuos((z))Jrl. CensBalea OO = & = cargas Cw;\i‘}
a3 Find the first guadrant point with a horizontal tangent.

b.) Find the second quadrant point where the tangent is vertical.

¢.) Setup {do not solve) an integral that represents the area inside the smaller loog of the limacon.
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a0 Find vand 4.

¢ p Find the unit tangent vector ’1”(!) fort=0
G. Find the unit normal vector f\a( ) for (£ 4
¢} Find the curvature of J

.3 Findd the tangential and normal components of the acceleration vector.

pShow that g = T e a, N
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